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Directions (1-5): frferfera wsii & qv gefisor (1) 3 (1) g e €, < afeeon & g 3
3 3T fifSra-

L4x2—15x— 46 =0
o1, 11 6y% +35y + 46 = 0

(@ FE x>y

(b)afEx2y

(T x<y

(d)afEx<y

(e) TR x = y AT Y TATAT gl (AT AT THAT §
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L.2x2—x—10=0
2 L2y —y—21=0

(a)afex>y
() afkxzy
(R x<y
(d)yafRkx<y
(e) e x = y T Faer woqria =gt o ST ot 8
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Lx*—3x—88=0
Q3. 1L y2+8y—48=0
(@A x>y
(b)afex=>y
(Qafex<y
(dafex<y
(e) AT x = y AT Hay TATIUT AT AT ST Tl T &
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.2x2—-9x+9=0
ou ILY2 =7y +12=0

(@ afkx>y

(b)afkx>y

(Qafkx<y

(dafkx<y

(e) AT x = y AT Faer w7 AT 3T ST o1 B
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L4x?2+19x+22 =0
g5, 1277 +11y +15=0

(@ afRkx>y

(b)afRx>y

(QafRx<y

(dafRx<y

(e) e x = y 7 Faer woqrioa =gt fohaT ST Tt 8
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Directions (6-10): Rurferfera wii # wemEmas-f=ee (7) F T 9 F/4T AT 719 AT

0 2900 x +f498 ++f251=7=8

(a) 600

(b) 670

(c) 770

(d) 750

(e) 730
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89.998%0f 598.9+ 51.002%0f899.99-171.015="7
Q7.
() 990
(b) 830
(c) 910



(d) 870

(e) 980
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341 311 179909
. w -

7 5 ; T
Q8. 20,002 30.07 49919

(a) 36

(b)7.2

(c)72

(d) 3.6

(e) 1.8
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Q9 8999 +90.005 x95.998 =7x20.999

(a) 420

(b) 320

(c) 540

(d) 525

(e) 457
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(39.99)* —(9.9)* —(15.1)* =?
Q10.
(a) 1375
(b) 1275
(c) 1100
(d) 1175
(e) 1225
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Directions (11-15): &t IS H@AT § THATIH =& (?) 3 AT I FT HIA ATTT-

Q11.2401, 1617, 1225, 1029, 931, ?
() 900
(b) 910
(c) 882



(d) 880

(e) 810
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Q12.13,20,39,78,145,?

(a) 234

(b) 244

(c) 236

(d) 248

(e) 235
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Q13.9, 17, 65, 385, 3073, ?
(a) 40704

(b) 73251

(c) 65506

(d) 38521

(e) 30721
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Q14. 25, 241, 584, 1096, 1825, ?
(a) 2625

(b) 2525

(c) 2725

(d) 2825

(e) 2025
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Q15.11, 30, 87, 258, 771, ?
(a) 2610

(b) 2450

(c) 2310

(d) 2730

(e) 2510
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S1.

Solutions

Ans.(b)

I.4x%- 15x-46=0

= 4x%-23x+8x-46=0
= (4x-23)(x+2)=0
=x= —2,?

I 6y° + 35y +46 =0
=6y’ + 12y + 23y +46=10
= (y+ 2] (6y+23)=0

= 3 = —2_.——
Y 6

X2V

Sol.

S2.

Sol

S3.

Ans.(e)
L2x*-x-10=0
=2x7-5x+4x-10=0
=(2x-5)(x+2)=0
::-x=5,—2
2

IL2y* -y-21=0
=2y’ -Fy+6y-21=0
=2y-7)(yv+3)=0

_T-"
::.}'_EI_S

No relation

Ans.(e)
I.x*-3x-88=0
=(x-11)(x+8)=0
=>x=11,-8
ILy*+8y-48=0
= (v+12) (v -4)=0
=y=4,-12

No relation

Sol.

S4.

Ans.(d)



.2x*-9x+9=0
=2x%-6x-3x+9=0
=(x-3)(2x-3)=0

3
= x=3—-

2
ILy?-7y+12=0
=y -3y-4y+12=0
=(v-3)(v-4)=0
=y=34

=
Sol.F_x

S5. Ans.(e)
L4x? +19x+22=0
= 4%+ Bx+ 11x+22=0
= (x+2)(4x+11)=0
11

= x=-2,——
4

IL2y* + 11y +15=0

= 2y°+6y+5y+15=0
=(y+3)(2y+5)=0
=:-y=-3,—§

Mo relation

Sol

S6. Ans.(a)
7 =/2900 % /498 +aj251x 8
= 54x22=16=8

= 600
Sol.

S7. Ans.(b)
7=89.998%0f598.9 +51.002%0g/ 899.99-171.015
= 90%gf/ 600+ 51%0/900-171.05
=540+459-171

= 8§30
Sol.

S8. Ans.(d)



o341 511179909
f= = H =
20002 3007 49919
340 30 180
R s A
20 510 50

Sol, =6

S9. Ans. (e)
7=80999+=90.005x95.998 = 20999

=9000+90=96+21

= 9600 =21
45

Sol. 437

S10. Ans.(b)

7= (39.99)2 - (9.9)2-(15.1)2
= (40)2-(10)2-(15)2

=1275
Sol.

S11. Ans.(c)

—784,—392,—196,—98, —49
Sol.

S12. Ans.(d)
13 20 39 78 145 248

7 19 39 67 103

| | | | | | | |
y 28

Sol. 8 8 8

S13. Ans.(e)

®*x2—1, ®x4—3, x6—5 x8—-7, x10—9
Sol.

S14. Ans.(d)
Sol +(6 )%, +(7)3, +(8)°%, +(9)%, +(10)3
Ool.

S15. Ans.(c)
#3—3, ®X3—3, ®X3FI—3, x3-3
Sol.



